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Section 1 - General Aptitude-English Subject

1) Synonym of pompous

A) Crowded
B) Supportive
C) Busy

D) Arrogant

2) Rearrange these parts labelled A, B, C and D to make
a meaningful paragraph, and choose the most
appropriate answer.

A. Good writers use more verbs.

B. However, it is hard to write without verbs.

C. The reason is that if unnecessary words are reduced,
the verb-percentage goes up as a mathematical necessity.
D. So “use verbs” is not really good advice; writers have to
use verbs, and trying to add extra ones would not turn out
well.

A) ABCD
B) ACBD
C) ABDC
D) DBCA

3) Find out whether there is any error in any part of the
below sentence. If yes, indicate the correct answer among
the given options, else indicate "No error":

Girls after girls spoke against (1) / the violence (2) /
against women. (3) / No error (4)

A) 1
B) 2
C)3
D) 4

4) Read the passage below and answer the question
that follows :

Creativity is at once our most precious resource and our
most inexhaustible one. As anyone who has ever spent any
time with children knows, every single human being is born
creative; every human being is innately endowed with the
ability to combine and recombine data, perceptions,
materials and ideas, and devise new ways of thinking and
doing. Cities are the true fonts of creativity. With their
diverse populations, dense social networks, and public
spaces where people can meet spontaneously and
serendipitously, they spark and catalyze new ideas. With
their infrastructure for finance, organization and trade, they
allow those ideas to be swiftly actualized. As for what
staunches creativity, that's easy, if ironic. It's the very
institutions that we build to manage, exploit and perpetuate
the fruits of creativity — our big bureaucracies, and sad to
say, too many of our schools. Creativity is disruptive;
schools and organizations are regimented, standardized
and stultifying.

The author uses 'ironic' in the paragraph to point out
that

A) people need social contact rather than isolation to
nurture their creativity.

B) institutions created to promote creativity eventually
stifle it.

C) the larger the creative population in a city, the more
likely it is to be stifled.

D) large bureaucracies and institutions are the inevitable
outcome of successful cities.

5) In the following question, four alternatives are given for
the idiom/phrase italicised and underlined in the
sentence. Choose the alternative which best expresses the
meaning of idiom/phrase.

He passed himself off as a noble man.

A) Was regarded as
B) Pretended to be
C) Was thought to be
D) Was looked upon
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Section 2 - General Aptitude

6) What does “P” stand for in MPEG?

A) Pixels
B) Pictures
C) Parts
D) Protocol

6) TAMSST 7 O fhaer g g2

A) Rrereer
B) ey
C) uréw

D) greYenter

7) 49th Parallel is located between

A) USA and Canada

B) Iran and Iraq

C) South Korea and North Korea
D) Egypt and Sudan

7) 4931 AR fFras oo fud § :

A) guaT 3R HeTar

B) 31 3R R

C) gfgror ARET 3R 3ca) AR
D) $foea 3tk gs=

8) In a class, students are assigned roll numbers from 1 to
140. All students with even roll numbers opted for cricket,
all those whose roll numbers are divisible by 5 opted for
football, and all those whose roll numbers are divisible by 3
opted for basketball. The number of students who did not
opt for any of the three sports is

A) 102
B) 38
C) 98
D) 42

8) Tsh F&T & ©ET I 1 F 140 dF & Vo AR U St
g | g7 Ud Faard w3t ol o fedhe gam, 3 @l
St e e 5 @ sy § 36 Pedre oo, 3R o
gt s U JoX 3 ¥ [Fursy € 308l SiEhedid &7
fahed gar | AT ot A @ g o Qo F Yeorarel SrET
T FEAT fohdell §

A) 102
B) 38
C) 98
D) 42

9) The Academy Awards, popularly known as the

are awards for artistic and technical merit in the film
industry.

A) Lauritzen Awards
B) Oscar Awards

C) Globo d'oro

D) Webby Awards

9) oA 3cTNT # daelldhl IR FellcAs AeTdT FHfaT

fear STaTen e QIR hiog §7 § Ry A1 4
ST STl &

A) FREaT RERR
B) 3ffea qrEar
C) saat & 3Ry
D) dedit qrEar
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10) Meenakshi and Anupama two best friends wanted to
arrange books in their small library. They arranged these
books as a pile one over the other. There are 3 computer
science books, 3 reasoning books, 2 math books, 2
interview books, and 2 English books. A Computer science
book is either at the top or bottom-most level. Starting from
the top a reasoning book is between a math book and
computer science book (either of the mentioned Math or
Computer Science books may be at the top of reasoning
book), an English book is between a math book and
computer science book. A reasoning book is the third book
from the bottom. An interview book is between a math book
that is in sixth place from the top and a reasoning book.
Another interview book is in between two reasoning books.
A computer science book is in between reasoning and
English.

Which book is in fourth place from the bottom?

A) Computer Science
B) English

C) Reasoning

D) Interview

10) #erefr AR IATAT & FIE IS A I BT
qEaFerd H Rl #T caaedr e A & | 3egie
geT Qe Pl Udh & FW Teh & & & # cFafeyd fhar
| 3 &g e i fora, 3 d& &1 fohae, 2 arfora
T foRare, 2 dmefced & fohdre 3R 2 36 fohde &
| SegeX fa=ireT 7 fohcrel a1 o G FU A1 T el
TR WEHAN & | 3R & Th dob H Faw, afoa $r
e 3R g [ e & &= g (31 & 9o
& AT FYX e e aF f Faw F IR @
Hehcll §), Teh 3l fohdre, a1ford &1 fohcier 3R &ege
faater fr fovde & g § | d T hde A @ Sl
Fde § | THh TTechR AT fohae we aforg 7 fohare
S 3R T TS T W g AR Th d A fhae & 9T
g | UH 33T AR @ e & g% @ fhael &
T F | UF FYX A f frde as R Eeh &
faAE |

T ¥ AT T W FiA-A hde § 2

A) Fgex e
B) 3arsh

C) a%
D) grefrerr

11) Time taken by two trains running in opposite directions
to cross a man standing on the platform is 28 seconds and
18 seconds respectively. It took 26 seconds for the trains to
cross each other. What is the ratio of their speeds?

A) 2:3
B) 3:2
C) 14
D) 4:1

11) @ ¢oT faudia feems & =er Wr €, S sheer: colewid
9 @S U 3GAT I 28 Hhs IR 18 Ths A IR Hdr
€1 3T 26 Whs # UH gAY H UR FAA § | 3T A
T 3eIdT T g9 2

A) 2:3
B) 3:2
C) 14
D) 4:1

12) The following series is based on a specific pattern. Find
the next number in the pattern.
7,13, 25,45, 75,?

A) 117
B) 153
C) 209
D) 123

12) Eafaf@d J@er vk fafdse Yot ov smuRa & |
Yeat & 3T FSR @it

7,13, 25,45, 75,2

A) 117

B) 153

C) 209
D) 123
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13) Which of the following year has the calendar exactly
same as 2009?

A) 2010
B) 2013
C) 2015
D) 2017

13) Pefaf@a # @ fg af a1 $helst feghel 2009 &
SEr g ?

A) 2010
B) 2013
C) 2015
D) 2017

14) Sowmya walked 20 m towards the north. Then she
turned right and walks 30 m. Then she turns right and
walks 35 m. Then she turns left and walks 15 m. Finally,
she turns left and walks 15 m. In which direction and how
many meters is she from the starting position?

A) 15 m West
B) 30 m East
C) 30 m West
D) 45 m East

14) TlFar 20 #Aex 3R em i 3R Tordr & | Y g
et 73y AR 30 #AMex welr | R 9 g A AR 35
#Hiey Telr | Y & a8 o {3 15 #Hiew welr | 3
#, gg IRt IR A IR 15 Hlex el | g8 YT A
feufa & fha fqem & 3R vl fex 1 gy W g 2

A) 15 #rex afRTs
B) 30 #irex g
C) 30 #rex afRas
D) 45 #frex 4&

15) A, B, C and D share a loot. A gets a% of the total. B
gets b% of the remaining (after A has taken his share). C
gets ¢c% of the remaining and D gets the rest. D gets a%
less than what A gets, B and C get equal amounts. b = 2a.
What percentage of what A got did C get?

A) 160%
B) 80%

C) 175%
D) 150%

15) A, B, C 3R DT ¢ &l dicd & | AH Tl & a%
Foar € | B 9w & b% Aedr § (A @R 39er
REAT ot & §1€) | CH AV & c% Aerar & 3K D#H
wg&nﬁthaﬁAﬁmﬁaﬁrﬂﬁa%m
fAoar 8, B3R C & susk Ufr et & | b=2a |
fraa gfaera Al e, 38# & fofder C &1 f&er 2

A) 160%
B) 80%

C) 175%
D) 150%

16) A man can row a boat 50 km upstream and 72 km
downstream in 9 hours. He can also row 70 km upstream

and 90 km downstream in 12 hours. Find the rate of
current.

A) 3 kmph
B) 8 kmph
C) 4 kmph
D) 2 kmph

16) Teh Afad A & 9 B¢ 7 50 km URT & gfdger 3R
72 km URT & 37lehel Toll Hehell & | $Hh 37olral, 98 12
g # 70 km URT & Yfcdehel 3R 90 km URT & 3iefehel
oIl Fehell & | ORI T g AT gl

A) 3 kmph
B) 8 kmph
C) 4 kmph
D) 2 kmph
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17) Two numbers a and b are inversely proportional to

each other. If a increases by 100%, then b decreases by:

A) 200%
B) 100%
C) 50%
D) 80%

17) & @AW a 3R b FehAEERT & | IfE a, 100%
§¢ AT g, dt b fohdalr & g § -

A) 200%
B) 100%
C) 50%
D) 80%

18) When was the National Solar Mission launched by the
Government of India to promote solar power in India?

A) January 2010
B) January 2020
C) November 2018
D) February 2015

18) IRd & IR ol F Feal & T IR THR
CaRT TS WX AT e Y& fohar amr ar 2

A) STl 2010
B) Steradr 2020
C) 7gsv 2018
D) weadr 2015

19) If in a certain code 'INTELLIGENCE' is written as

'ETNIGILLECNE', then how can 'MATHEMATICAL' be
written in the same code?

A) AMHTMETACILA
B) TAMMEHTALAC
C) HTAMTAMELACI
D) LACITAMEHTAM

Page5o0f14

19) I wh TEfRad #8 H  INTELLIGENCE' &r
'ETNIGILLECNE' fo@@ Srar g o 38 s #
'MATHEMATICAL' &I &8 faar Smean?

A) AMHTMETACILA
B) TAMMEHTALAC
C) HTAMTAMELACI
D) LACITAMEHTAM

20) Headquarters of Association of Southeast Asian
Nations (ASEAN)

A) Tokyo, Japan
B) Jakarta, Indonesia

C) Queenstown, Singapore
D) Ebene, Mauritius

20) gferoT qd TRIaTS IUse FE AT HEECT FEl §

A) eifear, SiareT

B) Srereft, s8R
C) Fiewerss, TR
D) wa=, Atdrere
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Section 3 - Electrical

21) In an energy meter, the steady speed of disc can be
achieved when

A) Braking torque is zero
B) Braking torque is more than operating torque

C) Operating torque is equal to or less than half the
braking torque

D) Operating torque is equal to braking torque

21) Fait X F v fr R afa g« grea fr s g,
K

A) ST Semeel T BT &
B) 9t qemgel wenford semeet & 3ifoe g §

C) ganfard semepl, sfdFer semget & 3T & FAW A
HA Gl §

D) wrenfora sremee, sfher semeet & @ g &

22) Which of the following connections is best suited for 3-
phase, 4 wire service?

A) Delta-Delta
B) Star-Star
C) Delta-Star
D) Star-Delta

22) Arfaf@d # @ sia-a1 §@eed 3 W |, 4 dr
YT HAT FI 39GFT & ?

A) Seer-3eer
B) TerR-Ter
C) geer - TR
D) &R - geer

23) The most desirable factors contributing to low-cost
electrical power generation are -

A) High Load Factor & Low Diversity Factor
B) Low Load Factor & High Diversity Factor
C) High Load Factor & High Diversity Factor
D) Low Load Factor & Low Diversity Factor

23) ®H ANTATel fdegd Afd 3culesT H FRIET SAdTel
I TSAT FRE DlA-AT &

A) 3z 9R wR* AR e [fdear sre
B) e IR #R& 3R 3=a RAfgyar sR=
C) 39 #iIR &R& 3N 3= Ry ar=
D) e TR #Ra 3R e R_fgydr sre

24) Which among the following factors determine the time
response of an indicating type instrument?

A) Deflecting system
B) Controlling system
C) Jewel Bearing

D) Damping system

24) FfAfld & @ Hl-A7 SR Toh Fah T H AT
wfafskar et s § 2

A) fagger yoTrelr
B) =T gorrelr
C) Saar aafar

D) 3rasiest gome

25) A 100:5 transformer is used in conjugation with a 5-
amp ammeter. If the latter reads 3.5A, find the line current.

A) 0.175 A
B) 70 A

C) 100 A
D) 140 A
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25) T& 100:5 CHEGIAT & 39T 5- amp UHASR & 28) Which of the following is not applicable to electronic
. ! oscillators?
Y FYIAT A AT ST § | Il WRadl 3.5 A T &

ar, oSl Hc FAT g : A) little wear and tear

B) low efficiency
A) 0.175 A C) good frequency stability
B) 70 A D) frequency of oscillation can be easily changed
C) 100 A
D) 140 A

28) faraifaf@a # @ =la-ar saecif@e o 9 o]
] ?
26) Which of the following instrument is not desirable for T g ¥
measurement of AC values?

A) 36T ATT TT FT
A) Moving iron repulsion type

T . B) &\ cerar
B) Moving iron attraction type c
C) Dynamometer type ) 38 3 g feere

D) Permanent Magnet Moving Coil type D) arereT fr HGFT T AT § SGT ST Fhel &

26) fAFAfaf@ad & @ Hla-a1 3uHor TH AT & AT
Ffw g F&F § ?

29) In an A.C. generator, increase in number of turns in the

coil
A) Increases EMF
A gfdeyor
) e witg AP B) Decreases EMF
B) wrer cilg 3mehdur e C) Makes EMF zero
C) srgamAAel g1 D) Has no effect on EMF

D) varfy goe = dilg TR

29) Toh THT SeReX H, Fell H gAEG FI dEAT H Jefy

q FT @ §
27) The superposition theorem is used when the circuit €
contains

A) EMF S&ar §
A) A single voltage source

B) EMF wear &
B) A number of voltage sources c
C) Passive elements only ) EMF Y= Bl &

D) None of the options D) EMF WX &I$ 9HTa 78T §

27) ALIRIYUT YA T 3YANT a9 foham SI1ar § S a9y

30) Class “B” insulation materials can withstand a

- S 2T & - maximum temperature rise of ............ degree Celsius
A) t& TFd dleesl did g; 122

B) #& dreear @d C) 155

C) et Ffspyy oo D) More than 180

D) 7% fashera =1t
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30) @O &Y us et fRawr et afeaww &
HRFIH AIAT G FT AHAT F Fehell §

A) 130
B) 105
C) 155

D) 180 & 3fos

31) A dc source generating 1000V has an internal
resistance of 100 Ohm. Find the load current if load
resistance is 900 Ohms.

A) 1A
B) 10 A
C)0.9A
D)9 A

31) 1000 V 3cTe Fladrel T ESCURT FIT &7 dRS

gfeRier 100 Ohm g | Ifg #iX gfa’ier 900 Ohms g ar
R YRT TRl g -

A) 1A
B) 10 A
C)0.9A
D)9 A

32) The main advantage for the use of distributed winding
in slots of a synchronous generator is

A) reduction in the size of the machine

B) reduction in harmonics of the generated emf
C) reduction in the amount of copper required

D) increase in mechanical strength of the winding

32) U Jeddhlfaieh SeRel & Follcq # faaRd $selr &
3T T HET oI1eT &7 ¢

A) FMT FT PR FH AT

B) 3cqeet emf & gAfed &Y ® e
C) smavysh dre 1 AET FH FEAT

D) gz # @ifyss afdd i qar

33) Which among the following Statements are TRUE
regarding the Power Transmission capacity of a high
voltage AC transmission line?

A) Increased transmission voltage and decreased line
reactance increases the power transmission capacity

B) Increased transmission voltage and increased line
reactance increases the power transmission capacity

C) Decreased transmission voltage and decreased line
reactance increases the power transmission capacity

D) Decreased transmission voltage and increased line
reactance increases the power transmission capacity

33) 3T dlecsl THT HTROT I@T HI AfFT FTROT AT &
ey d Aeafaf@d & @ Sid-ar a7 Tgr g ?

A) FmRor diees 7 gefer 3R are wfdea # F @
TFT HTOT &THAT §6 Sl ¢

B) Feror dieest # gefyr R amew wfawd #F gefr &
UfFd TWROT &THAT §6 ST §

C) gwror aieest & ot 3R o ufdera & wer @
UfFd FROT &TAAT gE ST §

D) #eror deesr & Folr 3N arg wfdwa F gefr @
ATFT FROT &TAT 9 AT &

34) A semiconductor that decreases in resistance with an
increase in temperature is known as a

A) resistor
B) thermistor
C) diode

D) thermopile

34) U AT ST A9A A gefr & @y ufoiy A
FHHT FIAT § 3T FIT Fgl AT &

A) iR
B) yffeex
C) srrs

D) ersifurger
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35) Damper windings are used in alternators to

A) Prevent hunting

B) Achieve synchronism
C) Reduce windage losses
D) All of the options

35) 3MafciT # radcs Fsoil w1 gAT fhas faw fmar
ST §

A) gfar @t Aepall

B) Jeaaiformar & wita
C) {43t gIfy A e el
D) siera @sfht fasred

36) An induction motor fed from an inverter, changes from
motoring mode to regenerative braking mode when-

A) the phase sequence of the inverter is reversed
B) the inverter output voltage is reduced

C) the inverter frequency is decreased

D) the inverter frequency and voltage are increased

36) & FwacY # Taed SRON Ay, AeRer A5 § goafsr
Sfher Ag & sa qRafda g &

A) g7aéI HT W1 FH Jeledl §

B) g7a¢y m3eqe deest Hear §

C) geaex 3mgf weeh &

D) ety 3Ry 3T deest # aadh ¥

37) Class A insulation can withstand maximum temperature
of ---- degree Celsius

A) 105
B) 110
C) 130
D) 155

37) o7 ‘T IRuST fhaa B afcagw & 3feaw
ATIHTA T ATHAT HT Fhall &

A) 105
B) 110
C) 130
D) 155

38) Two identical generators A and B have 6 poles each.
Generator A has wave wound armature while generator B

has lap wound armature. The ratio of induced emf in
generator A and B will be

A) 1:3
B) 2:3
C)31
D) 3:2

38) & FHNT SeReX T AR O & 9dh H 6 Yd & |
SR T H URT Fsoll IR § Seih FeRex @ &
A9 FEered IR § | TR T IR A A Al
SUATG o1 3ffaTd fhcar g1am :

A) 1:3
B) 2:3
C)31
D) 3:2

39) Which of the following number specification refers to
FET with one gate?

A) 2N
B) 3N
C) 3Y
D) 3X

39) Arfaf@d & ¥ Fa-dr e JBfady e #:F
AT & Y TS AT § 2

A) 2N
B) 3N
C) 3Y
D) 3X
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40) An induction motor is operated at a slip of 4% from a
supply of 50 Hz. Then the frequency of the rotor current is -

A) 50 Hz
B) 2 Hz
C) 200 Hz
D) 1 Hz

40) T WON AeX 50 Hz $ 3Mqfcd & 4% & @df

e @Y ¥, Vex G A IRy el el

A) 50 Hz
B) 2 Hz
C) 200 Hz
D) 1 Hz

41) Time delayed or delayed action-type fuses are
designed to

A) prevent grounds in branch circuits

B) prevent opens in motor circuits

C) permit momentary overloads without melting
D) guard lighting and electronic circuit

41) gAY TAefed A1 fAelfdd S YR & Tl &l fhas
o fBarsa forar a=m § ¢

A) erEr aRaY F sTHEIERT Y el

B) Aty afituyr & gera & qape

C) afedar & R e 3R & 3egAfa 3o
D) geprer 3R golereifoler GRUY &T HIETOT

42) A repulsion type ammeter when used on AC circuits,
reads

A) peak value of current
B) RMS value of current
C) mean value of current
D) equivalent dc value of current

Pagel0of14

42) T 9faeyur yeR WHHCT 9 vEr 9ROy 9¥ 39T
forar Sirar & o r ureT §

A) aRT & ITUdH AT
B) eIRT @ 3IRTATH AT
C) ey &1 3T AW

D) emr & gear SR A

43) The applied input ac power to a half wave rectifier is

100 watts. The dc output power obtained is 40 watts. What
is the power efficiency of the rectifier?

A) 40%
B) 80%
C) 100%
D) 25%

43) Y T gRMeH # o] goiqe THT ATFT 100 watts

€ | 9o SR 3m3eqe AfFd 40 watts & | aRetes
ATFA coTar Fa1 § 2

A) 40%
B) 80%
C) 100%
D) 25%

44) A 6 pole, 50 Hz, 3 phase induction motor has a full load
speed of 950 rpm. At half load, its speed would

A) 475
B) 500
C) 975
D) 1000

44) Ff& 3 %t 50 Hz, 6 ¢a WOl Al H qoT §R a1l
950 rpm §, dr 3HHT Y HR T Hd=T rpm g9 :

A) 475
B) 500
C) 975
D) 1000
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45) The electrolyte used in a nickel-cadmium battery is
distilled water and

A) diluted sulphuric acid
B) potassium hydroxide
C) lead sulphate

D) zinc oxide

45) Twar-Shsffae &< # wgFa sdaciase YA oA
AR FT R

A) gaer Tergfe Tfs

B) urfRiaH gregiearss
C) 35 Hethe

D) fSier 3mrerarss

46) In an induction motor, rotor currents are circulated in
the rotor by

A) slip rings and brushes

B) an armature and brushes

C) inductive reaction of the rotating stator field
D) external variable resistors

46) T 9ol AT H, goid uNE A guie #H fREd
garT gREnferd famar S §

A) gdt gorg 3R s

B) weh 3mfer 3R wer

C) goiet ®ex 87 1 R wfafear
D) stewr aftadt wfadres

47) A low voltage source is being used for testing armature
coils. A coil short circuit will be indicated by a .

A) high voltage reading, while the other coil readings will
have an equal or lower value

B) low or zero voltage reading, while the other coils will
have higher readings

C) fluctuating voltmeter reading, while the other coll
readings are steady

D) steady voltmeter reading, while the other coil readings
are fluctuating

47) 3R Fell & GUETUT HAT Teh A dlecst Hd

39T AT ST T & | T Pl og IRIY H fhadh
ARy FiRAd fRar ST ¢

A) 3ea Ao TIedh, SISfE Hed SN UedE &
SR TT HHA AT g

B) &1 a1 e dletsT i, SafE 3Wed Fsen A I
qrGATH g

C) 3R diecafier wreaid, SEfE 3T Fsen deAH
TR g |

D) feer dleeafiey wiediss, et 3w Fsoll wreais #
3aR-geE @ W@ §

48) A parallel plate capacitor has capacitance of 10 micro
farad. If the linear dimensions of the plates are doubled and

the separation between them is also doubled the value of
capacitor would be

A) 10 micro farad
B) 20 micro farad
C) 5 micro farad

D) 40 micro farad

48) Teh FHATK Tole FUTRT T erikar 10 AsH g & |

I coret w3 B geer A GAr e R 3

s & gt A o gIer Y fm Siw ar HerRT & AT
fha=r giem

A) 10 ATSHT s
B) 20 wTSehy e
C) 5 ATgem thas
D) 40 ATz ¥z
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49) Two resistors R1 and Rz give combined resistance of
4.5 ohms when in series and 1 ohm when in parallel. The
resistances are ........ ohmsand ......... ohms

A) 2and 2.5
B) 1and 3.5
C)l5and3
D) 4 and 0.5

49) a1 wfeRkitrh Ry AR R 4@l # 4.5 ohms T AJFd
gfoRier ¢ & 3R AR & 1 ohm S & , ar ufoRy
................ ohms 3 ................. ohms 8T :

A) 2and 2.5
B) 1and 3.5
C)l5and 3
D) 4 and 0.5

50) A transformer is working at its full load and the

efficiency is also maximum. The iron loss is 1000W, then its
copper loss at half full load will be

A) 250 W
B) 300 W
C) 400 W
D) 500 W

50) U AR QO AR W HROHaA Gt & Ay
Tarferd & T § | 3fg o @1fy 1000 w g, & 3T qut
R IR 3T dTH gifed Tohciell g1 -

A) 250 W
B) 300 W
C) 400 W
D) 500 W

51) For a 100 kVA transformer, the iron loss is 1 kW and
the full load copper loss is 2 kW. The load at which the
transformer operates with its maximum efficiency is-

A) 70.7 KVA
B) 25.2 kVA
C) 100 kVA
D) 55 kVA

51) Tsh 100 KVA THEWBIFT H 1 KW & Slg oJehare grar
g AR 2 kw & qUT $R arel dF JHE glar g, ar
HTUHAH G&TdT ¥ Hfed gHbT HR fohcder glom :

A) 70.7 kVA
B) 25.2 kVA
C) 100 kVA
D) 55 kVA

52) With negative feedback, the system stability and
system gain respectively-

A) Increases and increases
B) Decreases and decreases
C) Increases and decreases
D) Decreases and increases

52) sThRTcH® FTdfshdl & AT, YoTell T2RAT 3R goTelr
SATH AT & .o

A) gear 3R Fedr §
B) gear 3R wear &
C) gear 3R gear ¢
D) gear 3R sear &

53) The characteristic equation of a system is

F(s) = s*+s3+3s2+25+5=0
The system is -

A) stable

B) critically stable

C) conditionally stable
D) unstable
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53) otrell T fafrse. FateRoT fAeargar femr amr § -
F(s) = s* +s3+3s2+2s+5=0

YOIl ShI-aT §

A) ferar
B) wifae feerar
C) gfgaeh feerar
D) sifeerar

54) While starting a synchronous motor, the ammeter
measuring the current shows the maximum and then

returns to the proper value after synchronization. This
indicates that

A) motor has started properly

B) field windings are grounded

C) slip rings are dirty

D) power transmission cables are grounded

54) Teh Jedehlioleh HIY ] A FHI, URT HGACTCT
AT AR AT Far § IR W Jegaprele &
g¢ 3RT A W a9d 3 ST § | FE A gud
FLAT B

A) Frex & ET F TS I

B) &7 drsoret sifvera famam o &

C) adt o FelT ¥ |

D) erfeq wraor Ffer spfaverd fmam = §

55) The full torque electric brake on an electric cargo winch
functions to ...

A) act as a backup brake in the event the mechanical
brake should fail

B) automatically hold the load as soon as current to the
machine is shut off

C) automatically govern the lowering speed of the load
D) automatically govern the hoisting speed of the load

55) geifereeh et faer X qoT Semel faega s Ha &
FAT B

A) g% 9% & Ao g & UfT & 539 9% &
] A FRT FOT &

B) 3 & @l Y umr 5 g ¥, &Y & Tawifaa &9
Y UR & GH o T &

C) Tgaifod &9 & 9 T "edr 7y A Hafya war &

D) roaifad &7 @ AR 1 39 afg &1 AT aar
&

56) Autotransformer starters are sometimes used with
polyphase induction motors to

A) increase the voltage for “across-the-line starting”

B) provide a backup means of voltage regulation for
emergency starting

C) reduce the voltage applied to the motor during the
starting period

D) allow the voltage to be either stepped up or down,
depending on the application, to ensure full torque

56)mnﬁvwﬁlaméﬁaﬁawaﬁ-asaﬂa§arvﬁwwﬁma
& GTYT e G HAT ST § -

A) Tre - - aTse FeIféer Ffaw et 1 gefr
B) sl w3d Hfav deesr RfwdT @1 ww
Sh3T GrEET verT Hlar

C) Faree TFT & R AeX W aF] dleesT A HA
T

D) qut gemget gfafRad e Ffaw, g & ur

W dlecsl & IT df 3TAR™T AT AT R HT
AR &
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57) A resistance of 1 Ohm is connected directly across a
voltage source with load line V + | = 100, where V is the
voltage output of the source and | is the current through the
resistance. Then the current through the resistance is-

A) 50A
B) 100A
C) 1A
D) 200A

57) 1 Ohm &1 9faqer WY vk dlees AT & IR ST
g3 &, @A #R x@r v+ 1=100 § SV &G @
dieest 3m3eye R | yfeRiy & FIRT arr § | a9 gfady

& SIRT URT fohdeTr gram :

A) 50A
B) 100A
C) 1A
D) 200A

58) Diameter of L0SWG copper bare wire is

A) 2.337mm
B) 2.642mm
C) 3.367mm
D) 3.251mm

58) 10SWG d& & 3 dR & I ol ¢ :

A) 2.337mm
B) 2.642mm
C) 3.367mm
D) 3.251mm

59) In an AC generator connected to the main electrical
bus; as the electric load and power factor vary, a
corresponding change is reflected in the generator
armature reaction. These changes in armature reaction are
compensated for by the

A) governor speed droop setting
B) balance coil

C) voltage regulator

D) phase-balance relay

59) ALY fdegd &9 ¥ 3 T THI TR H, @5
fega o 3R afFd Frew @ gid g, SR 3mfr
gfafsrar & v @AW aRade aR@fard gar & 1 3R
gfafrar # g7 gRadat 1 gfaqfd fras garr & S
g

A) sy TS 70 AR
B) derst Faelr
C) greest faamFs

D) eror-deeret Rer

60) The KVA of a generator with 80 KW and 60 KVAR

A) 25
B) 50
C) 100
D) 140

60) 80 KW 3R 60 KVAR dTel StelkeX & KVA TR § :

A) 25
B) 50
C) 100
D) 140
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Question No. Answer Question No. Answer Question No. Answer
1 D 21 D 41 C
2 B 22 C 42 B
3 A 23 C 43 B
4 B 24 D 44 C
5 B 25 B 45 B
6 B 26 D 46 C
7 A 27 B 47 B
8 B 28 B 48 B
9 B 29 A 49 C
10 D 30 A 50 A
11 D 31 A 51 A
12 A 32 B 52 C
13 C 33 A 53 D
14 D 34 withdrawn 54 A
15 A 35 withdrawn 55 B
16 C 36 C 56 C
17 C 37 A 57 A
18 A 38 C 58 D
19 C 39 B 59 C
20 B 40 B 60 C




